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Asquare has a side length || Find the product of the Abox is onatable. $
of 8.2cm. What is the sixth prime number and The area of the box in contact with the table is 1500 cm?.
length of a diagonal of the the third triangular The pressure on the table is 28 newtons/m”>.
square? number. 3{9
g 2%+ $.2% = 13448 12x6 =18 Work out the force exerted by the box on the table.
23, u8 = 160 2dp F-015%28 = 4-2 newtons
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Factorise fully Work out the value of |Round 0.000608765 to ~ Town Bis on bearing of Simplify fully Work out the shaded
2 2 three significant 065° from Town A. area
15Xy~ + 27Xy + 9X . ] ] -5 .
35 y . y +9Xy (3%10%) + (6 x 107) figures What is the bearing of m? xm ms 'n’xﬁz -nxdlt
7%5 (58 +HoC 4 3) R ~N Town A from Town B? "‘3 1cm
16 -3 6-09 x 10 L3 T‘-’ jL_S_/ 180+ 65 m~ m = 28w - Ibn
Cxi(\ﬁ)cog-llz)) ox10 N m - J. = awom® L282~21w‘
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What is the interior Solve linvest £1200 in an account. Write 185 as a product Factorise ;,Lz o 3The total cos;of 3 pens and 4 p%ncils is £1.84
angle of a pentagon? X-7=21 that pays compound f its prime factors ' 2t liy- V8
.381:54 '080 P & ixj 28 interest of 1.5% Pe%a%num orisp © X' -7x+12 34 The total cost of 5 pens and 2 pencils is £1.76
4. 2368 S40:S How much interest will | Sx33 @ Sxdlu 136 (+2)
S uw = suo’ b JE4 3 earn in 3 years? C"C - 3)(* - LL) Work out the cost of one pen and the cost of one pencil.
= 108° years: Q IOacaAa 352 oc - 02y
£54-81 Q zekg-ise 4. oz8
19 20 n n B F= I 5
2 What is the lowest Calculate: Expand and simplify | Anumber "x", is rounded There are a total of 120 counters in a box.
Change 4.2m into Ttipl f 8 P pity t0 9.5 correct to 2 There are three times as many red counters as blue counters.
common multiple o (2X Y)(BX + ZY) ienifi ¢ i Vicky takes one third of the red counters from the boxao\"‘b
:o n.o 12 and 152 2 3 5 | 6+ I‘ﬁ - % Slg.m ‘can |gLfres. 21, & Oliver takes 80% of the blue counters from the box.  ~ 3
Im D 1000 x 4200 2‘3 — + —_ What is the error interval Ork out the ratio of the number of red counters to the number of
42m 4,200,000 :‘S, |_22. 5 8 LO iy (ZX 3) 2 of x2 K 6 blue counters now inthe box. & : &
T &9'= - Y q.45¢ *2<2.5S (9030 :f
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Simplify Py Find theﬂ\eman » What is the surface area of a = A water container has 19.5 litres Is 150 a term in the
cube with side length 3¢cm? of waterinit. 2 Y
4(X + 3) - 2(X '2) g :g' 1|1| |9 1% 1?(: 11(; 1!24 @ gq ’ 2 A cup holds 210 ml of water. Se?:;in;e REMEMBER. THE BEST WAY To REVISE
S v e 1 Fovea- Aom How many cups of water can be ' w w
Lol - Lc+ L '2 5 3 s 2 filled from the water container? n%:3 =150 MATHS 's To Do MATHS !
Do + % Qx6=9Lem 14800 210 = 92.837... Al o1yl nel242)
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